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void DFS (int deep) //deep 78 241 9 0 IR
{

if &M M E
return;

for i A4S G BT A AT 8 R4

{

DFS (deep+1);

}
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#include<iostream>

#include<cstring>

#include<cstdlib>

#define H 13 /I
#define W 6 /155 R T
#define JH 3 / /BB A
#define JW 1 / /R A B R

using namespace std;

char table [H+2] [W+2]; /1B E A MRS
bool isW[H] [W]; / 7FVBT S TTAK R T A
char newj [JH] [JW]; //HF A RPRAS

bool flag;

const int step[4][2]={{1,0},{0,1},{1,1},{-1,1}}; [/ AT I YR
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void downOp () [/ — WA E T - RE (EATEE)
{
int i,3,%;
for (J=0;3<W;j++)
{
x=H-1;
for (i=H-1;i>=0;i--) //BRT T VR MUK R 78 1 07 B L
{
if (isW[i]l[3])
continue;
table[x--]1[j]l=table[i][J];
}
for(i=x;i>=0;i--) //HE RS WRAE S T
table[i] [j]="W";

}

void search () //ITHEEA
{
flag=true; /RN R BRI L EA

int i,73,k,t;
for (i=0;i<H;i++)
for (3j=0;j<W;j++)

isW[i] [j]=false;

for (i=0;i<H;i++) //IF I FIWT A WA RETH R M= A, A IETHE X
{
for (3=0;3<W;j++)
{
if (table[i][j]!="W") //PYRCFN W, AR w ) AR
{
for (k=0;k<4;k++) EROT A EN
{
1if(i+2% step[k] [0]>=0)
{ /TR ARG S T

if (table[i+step[k] [0]][j+step[k][1l]]l==table[i][]]

&& table[i+2* step[k] [0]]1[j+2* steplk][1]]l==table[i]l[]j])

{
t=0;
while (i+t * step[k][0]>=0
&& table[i+t * step[k] [0]][j+t* step[k][1l]]==table[i][]])
{ / /3R BNZTT 1) L T RE T I A

isW[i+t * step[k] [0]][j+t* stepl[k][1l]]=true;
t++;
}
flag=false;
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}
if ('flag) / /AN 2 A W RDETIR A
downOp () ;
}
int main ()
{
int i,3,T,1,h,t;
cin>>T;
while (T--)
{
for (1=0;i<H;i++)
{
cin>>tablel[i];
}
for (i=0;1i<JH;i++)
{
cin>>newj[i];
}
cin>>1;
1=1-1;
for (i=H-1;i>=0;i--)
{
if (table[i] [1l]=="W")
{

h=1;
break;
}
}
for (i=h-JH+1;i<=h;i++) /IR B AT A

{

table[i][l]l=newj[i- (h-JH+1)11[0];
}
flag=false;
while (1) //TFIRBEAAEES , FIWTE B AFTERE N 2 A
{

search () ;

if (flag)break;
}
for (i=0;i<H;i++)
{
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for (j=0;j<W;j++)
{
cout<<table[i]I[]j];

}
cout<<endl;

}

return 0;

}
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RRIERATEM b . BHREAIR— MXM B R — 4 72 AN 586 1Y (DL AR B JE X
25D RIG EVRUR S (9 S R R ZE g A ARTE AR T SR S b 4k — Rl R B A S R
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FECAS L 37 R B I PR T S A5 B0 WR2H A . U B AE R TR A B SE 5 A AR bR (E
BE/IN T A5 30 0 57 — 20 A S0 2 T T R AR — AR

3. BERRF

#include<iostream>

using namespace std;

int visit[301][301];
int board[301] [301];
int num[301][301];
int go[][2]={{-2,-1},{-2,1},{-1,-2},{-1,2},{1,-2},1{1,2},{2,-1},{2,1}};
//FE X 8 A5 IR
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typedef struct MyQueue({

1Q;

Q * head, * tail, *p, *qg, * temp;

int

{

106

int step;

int x,vy;

int len;

int path[1000];

MyQueue * next;

main ()

int i,7,step;

int x,y,xnow,ynow;

int T;

int xs,ys,xe,ye;

int flag;
int path[1000];

int m,n;

cin>>T;

while (T--)

{

/ /VTIR AL AT B

cin>>n;

memset (board, 0, sizeof (board));

memset (visit, 0, sizeof (visit));

for(i=1; i<=n; i++){

for(j=1; j<=n; j++){

num[i] [J]=(i-1) * n+3J;

}

cin>>xs>>ys;

cin>>xe>>vye;

cin>>m;

for (i=0; i<m; i++){
cin>>x>>y;
board[x][y]l=1;

head=new Q;
tail=head;
temp=new Q;
temp->x=xs;

temp->y=ys;

/ /] path id 1z



temp->step=0;
temp->path[0]=num[xs] [ys];
temp->next=NULL;
tail->next=temp;
tail=temp;

visit[xs][ys]l=1;

flag=0;
//IVER)TE R R
while (head->next!=NULL)
{
p=head->next;
X=p->X;
y=p->Vy;
step=p->step;
for (i=0; i<=step; i++)
{
path[i]l=p->path[i];
}
head->next=p->next;
if (head->next==NULL)
{
tail=head;
}
delete p;
if (x==xeg&&y==ye)
{
cout<<path[0];
for(i=1; i<=step; i++)
{
cout<<''<<path[i];
}
cout<<endl;
flag=1;
while (head->next!=NULL)
{
temp=head->next;
delete head;
head=temp;
}
break;
}
/ /18] 8 AN IR B 7 1] 4 g, [ i T 4 B st
for(int i=0;i<8;i++)
{
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